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Interactive Question

Starting from rest, a roller coaster that is confined to move
along a straight line is accelerated at a rate of 4 m/s2.
After 10 seconds how far will the roller coaster have
traveled?

A)20m C) 100 m E) 400 m
B) 40 m D)200m



_ek_-l A FCIJM chks q/o a. Joot ba !l at
the Q0 gard lre and russ tower?
the ead zone at a speed of 2345,
A perien J'l’aalmaz on e 2374/4
lae waats to Stoo 4 Coce e Lowa
hat mast be e /aer.soab MiA) R on

accelmation to Stoo te Cou el dowr?
(tonstast- acceleratbion )

O % = V=7 3al —
| xz= Aoy = /8, 244

? - V,,s o
X< R’YJ = &’ab’ﬂ

O k> X, | O kna X,
Vv, Vas © als
Q, = O/t G\;-ﬁg
find t for O
Krovvt » t= Ktz "'{::2::/;‘ =433
@ Y% fd g 3 X%K}:ﬂfn.l att
X= Tatt

S Q-Rleim) (o3

.)‘




